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The Wimbledon Tennis Championships are held every year. In the 

men’s singles championship there: 

  is one winner 

  is one runner-up 

        are two losing semi-finalists. 

The table shows the prize money won by the top four players in 

2006 and 2007. 

What was the total prize money won by the top 4 players in 2007? 

 

 

How much more prize money was won by the top 4 players in 2007 

than in 2006? 

Homework 4 
  Name: ______________________ 

WWW: EBI: 

Student Reflection: 

  

  

  2006 2007 

Winner £655 000 £700 000 

Runner-up £327 000 £327 500 

Each losing semi-finalist £163 750 £175 000 
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